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B. Tech. EXAMINATION, Dec. 2013
[11ird Semester B-Scheme (Main Only)]
CE
SURVEYING
CE-203-B

Time - 3 Hours Maximum Marks :75

Before answering the Question Paper candidatcs should
ensurc that they have been supplied the correct and
complete Question Paper. No complaiats n this regard,
will be entertained afier the examination.

Note:

* All questions carry equal marks.

* Attempr five questions, sclecting at least one
question from each unir,

Answer should be supplemented by neat and

clean dranving,
Unie.T

1. () What are he objectives of surveying? Fxplain

hasic prnciples of surveying. 7
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[image: image2.jpg](b) A steel tape 20 m long standardised at S5°F

with a pull of 10 kg was used for measuring a
base line. Find the correction per tape length,
i the temperature t the time of measurement
was SO°F and the pull exeried was 16 kg.
Weight of 1 cubic cm of steel = 7.86 g, wt. of
tape = 0.8 kg and E = 2.109 x 10° kg/em’

Coefficient of expansion of tape per 1°F = 6.2
x10%. 3

2. Discuss three point problem and show how it may
be solved by tracing paper method. 15

Unit11

3. The following staff readings were observed

successively with a level, the instrument having
been moved afier third, sixth and eighth reading:
2228, 1606, 0.988, 2.090, 2864, 1262, 0.602,
1982, 1.044, 2,684 m Tabulate the readings and
find the RLs of all points if the first readings was
taken with & stafl held on a bench mark of 432.384

m.
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[image: image3.jpg]4. What is a contour? Discuss with the help of
sketches the characteristcs of contours. 1s

Unit - I

5. What is the basic principle of stadia Tacheometry.
Discuss various methods of tacheometry. A
tacheometer was set uwp at sation P and
observations were taken on a staff held at Q, the
vertical circle reading being 7ero. The readings
were L980m, 1.660m and 1340m. The reading
from P 10 a saff held at a BM of clevation
1020 50m was 2.85m. Find the distance PQ and the
elevation of Point Q. The instrument constants
were 100 and 0.5. 15

6. () Fxplain how horizontal angle is measured with
atheodolite. 7

(b) Define the terms: face left and face right
obscrvations, swinging the telescope, line of
callimation and telescope normal while using
theodolite 8

3 PTo.
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7. (@) The altitudes of two proposed stations A and
B, 100 km apart, are respectively 420 m and

700 m. the intervening obstruction situatcd at

€. 70 km from A has an clevation of 478 m
Ascertzin if A and B arc intervisible and if
necessary, find by how much B should be

raised so that the line of sight must sowhere be

less than 3 m above the surface of the ground

10

(b) What is meant by a satellitc station and
reduction to centre? s

8. Discuss various clements of curves with diagram.
Caleulate the ordinates a1 10 m distances for
cireular curve having 2 Tong chord of 80 m and a
versed sine of 4 m, 1

cn 4 1500




